1.Gun body

2.Rigger loop

3.Magazine safety
4.93x10 PTHO

5.Gun body gallus hook
6.Gallus hook fix an iron slice
7.Gun stock connector
8.M3x6 KMHO

9.Gear box

10.Wire

11.Hand grip

12.M4x5 TMHO
13.Located slice

14.Fire selector coppy barrel
15.Fire selector

16.Fire selector ring
17.M4x10 TMHO
18.Outer fire selector
19.Right gun sight

20.Left gun sight
21.83%x16 PTHO
22.93x10 PTHO

23.0ut gun barrel

24.Gun barrel connect link
25.Hexagonal iron slice
26.M3 nut

27.M3x20 PMHO

28.Gun body cover spring
29.Up gun guard back cap

1.8

2 fHEE

3L AR
4.23%10 PTHO

5 SE R

6. TR E e
7 AR
8.M3x6 KMHO

9 {48

10. B IR

11T T4
12.M4x5 TMHO
13 R A

14 BSR4 SR A
15 4% U 11 2%

16. 3% A i 4t R 3R
17.M4x10 TMHO
1824 H{L i 1 5% Sh 44K
19 47 1 12
20. /¢ He B A
21.@3%x16 PTHO
22.23x10 PTHO
23 My 4ha

24 AN AT R AR
25.75 fadkigk
26.M37 fiy I B
27.M3%20 PMHO
28 4 B ZE T
29. iR E

30.Up gun guard located block 30. E A FRALET

31.M3x6 KMHO

32.Staff guage panel
33.Staff guage

34.Staff guage release spring
35.Staff guage release spring
36.Staff guage release
37.Up gun guard

38.Down gun guard
39.Down gun guard parts
40.M5 nut

41.95mm flat gaddi
42.M5%x16 TMHO inner hexagon
43.Down gun guard front cap
44.0ut gun barrel

45.Front gallus hook
46.M3x5 TMHO

47 .Front sight base
48.Front sight

49.Front barrel spring
50.Front barrel

51.Front gun tip gear
52.Front gun tip decoration
53.Front foldable handgrip
54.Front foldable handgrip base
55.M5x24 flat scren
55A.Round nut

56.Spring

57.Handgrip

58.Hop-Up

59.Rubber hop-up unit
60.Inner barrel

61.Copper

62.Gun barrel connect link
63.Rubber selector
64.Hop-up cylinder rubber

31.M3x6 KMHO

2 ER WK

33.4ER

34 A3 Rz Gt 3 P
35 R e 3
3645 R i it

37 48T AR
38T T A

39. Tl AR A
40.M57% #8265
41.@5mm T-#h
42.M5%16 TMHOM /< f8
A3 FHEATT 3

44 401

45 F AR
46.M3%x5 TMHO

47 77 e AL e

48 ATHER

49 AYTHAAY IE 3%
504 B 1E S
51T A

52 MY TRLEMT AN IR

53 Wk AT AT IR0

54 {28 BE
55.M5x 24 fi #1182 4%
55A T [0 8 45

56 J2 LK
57 {RIB R AL B
58 i #E

59 R BB AT

60 MY N
61802

62 MK

63 M IBTAH A
64 3 fili | AR B

65.Nail
66.Selector
67.92x4 PWBHO D=5
68.Block
69.092x4 KBHO
70.92.3x8 PWAHO D=5
71.M3x12 KMHO
72.Battery case
73.92%x6 PAHO
74.Loading cocking lever
75.Spring
76.Location block
77.Spring located slice
78.Gun body cover release
79.Gun body cover
80.Gun body cover
81.C-type gun stock
82.Gunstock button
83.Button block
84.Control-screw pole
85.Controlspring
86.Control round screw
87.M3x3 Screw
88.Rear gallus ring
89.M5x10 TMHO inner hexagon
90.95mm flat gaddi
91.Gun stock base
92.Gallus hook
93.Black
94 M5 nut
95.Gun stock inner canister
96.Inner canister round nut
97.Inner canister block
98.M5x65 PMHO
99.Inner canister rear cap
100.M2.5x8 PMHO
101.M5x13 TMHO inner hexagon
102.@5mm flat gaddi
103.U-type gun stock
104.U-type gun stock base
105.Gun stock fixed shaft
106.Gun stock spring
107.Black
108.Gun stock connector
109.Magazine cover
110.Magazine rear cover
111.Right trajectory
112.Left trajectory
113.Gear
114.Clockword spring base+
clockword spring+

65. 45 IEI24T

66 38 HGHH T
67.@2x4 PWBHO D=5
68 fnF 4

69.@2x4 KBHO
70.92.3x8 PWAHO D=5
71.M3x12 KMHO
72 % b

73.92%x6 PAHO

74 LR

75 L F (8] i B 5

76 B0 F RALE R

77 PLF IR AL

78 MY B R

79 MY B

80/ 575

81.CHIMIL

82 M {GH bt

83 LR AT

86451 IJIL IJ"‘J

87.M3x3 .ﬂ’rh

88 17 Al it

89.M5x10 TMHON /A ffi
90.@5mm |~ A

91 MG

92.& /|I| i
93 et
94 M5 ffy g 1)
95 MT4C M
96. P 1 [L1] 5 1)
97 . fif I 1
98.M5%x65 PMHO

99 .4 1% 25
100.M2.5x8 PMHO
101.M5x13 TMHOP /< £
102.@5mm -3l

103. UBHTHE

104. URIMTHTIE
105 My 41

107.F
1084 $ L% 1
109. 38 £ shak
11050 A2
111 A7 i
112 72k 3H
113. L&l T i
114 3R e+
B+

clockword spring cover gear  ## {25 i

115.Driver

116.Gear

117 .Gear spring
118.Eccentricity gear
119.Eccentricity gear
120.3mm inner blocked ring
121.Magazine cover
122.Bullet block spring
123.Bullet block
124.92.6x10 PAHO
125.92%21.5 shaft
126.92%25.5 shaft

115440 8) 2 i
116. 2% 4KlR

1173 AR TG £1 5%
118 Lol
119 4 Loy
120.3mm HFEE
121 A%
122, 1k 3 7
123. 1138
124.92.6%x10 PAHO
125.092x21.57 1
126.@2x%25 5441

AUTO ELEGTRIG GUN

HIGH QUALITY AIRSOFT GUN
Users restricted to 18 years of age or older

EHEGHR18RIMLE

CM. 028C

‘-\

\I

%

CM.028U

Name

850mm/933mm (When stock is extended)| 695mm/928mm(When stock is extended)
Overalllength £ & | g5mm/933mm (1g 4 RE) 695mm/928mm(i 1 & )

3300g Including battery 3100g Including battery

Weight g B

3300% HBRE;

31005 HEEM

Magazine capacity #5388

550 rounds 5503

550 rounds 550%

Bullet == AR

6mm BB bullets

6mm BB3&

6mm BB bullets 6mm BB3&

102m/sec (0.2g bullet)

102m/sec (0.2g bullet)

Initial bullet d
nitialbulletspeed #RE | > (0.29 BBE) 1023/ (0.2 BBE)
Full auto gt | 700 to 800 rounds/min 700 to 800 rounds/min

shooting speed

700 - 800%/%y

700 - 8003 /45>







